4[|l RTOZ T <piigsR>

2025538158 (%)
TONO=0ONWVT05T

IE iz K& WEST |[SOUTH| EAST =5 & fiz K& WEST |[SOUTH| EAST =1
(MESIES: 36 36 72 ER it 42 | 40 82
WH FA 39 37 76 5eH Re 39 | 39 | 44 83
HHFS 39 | 40 79 MR B 36 47 83
B k5| A Hx 43 | 38 81 51 XA TTH 42 | 41 83
AR 26T 40 | 44 84 R EA 40 | 40 | 44 84
mHF IE—ER 42 | 45 | %87 &k F5H 44 46 | %90
A—DFIRIINTOST 392 TONO=0ONT05T 415

IE iz K& WEST |[SOUTH| EAST =5 & fiz K& WEST |[SOUTH| EAST =1
gz R 37 | 37 74 N FZ 38 37 75
AN F 35 | 41 76 AR X 36 | 41 77
R SR 38 40 78 A+ ERER 43 | 40 83
HEBE| PR XE 42 | 41 83 6fii | FRE= | 42 45 87
KEY Bk 46 | 43 89 hnekE =% 45 52 QY7
5 Ot 47 50 | %97
TJUAREI XA N —{EEEER 400 AN =037 419

IE iz K& WEST |[SOUTH| EAST =5 & fiz K& WEST |[SOUTH| EAST =1
Ffd B 40 | 36 76 FO E—0R 39 | 38 77
1Ak =] 40 37 77 Al =F 43 | 39 82
A 39 | 40 79 = —t8 36 46 82
31 AR S 38 42 80 71 B 13T 43 40 83
MEH =X 45 | 44 89 il == I ECT 48 | 49 97
#x BIER 42 | 49 | %91 B B3 50 53 %103
ATV TT4—=)VRINTOZT 401 BEFg T )L J{ERER 421

IE iz K& WEST |[SOUTH| EAST =5 & fiz K& WEST |[SOUTH| EAST =1
% FH 37 | 37 74 K BT 43 41 84
WE NF 42 40 82 R £ 38 | 47 85
SeE 5 38 | 45 83 FolL E—| 42 48 90
441 Rl 678 36 47 83 81iL HE —E 45 46 91
Al A 42 | 46 88 Pk 16E 48 | 43 91
bR F|IE 50 | 48 | %98 XH &A 48 | 49 X977
63703 INT05T 410 INADZXTWNTOST 441




